CAASPP Review Seeing Structure in Expressions.gwb - Friday, April 20, 2018 - Page 1 of 18

Objective: See structure in expressions to solve problems.

Concept

Properties of Rational Exponents

For all nonzero real numbers a and b and rational numbers m and n

Words

Numbers

Algebra

Product of Powers Property: to multiply

103 1.3
122-122 = 12212 = 122 = 144

powers with the same base, add the am-qt =gmt"
exponents
. . .. 2 m m
Quotient pf Powers Property: to divide 1253 2 1 1 a _ gmn ora—
powers with the same base, subtract the 7 =125373=1253=5 a™ a™
exponents 1253 1
- qn—m

Power of a Power Property: to raise one
power to another, multiply the exponents

213 2
(g3) =833 =82=¢4

Power of a Product Property: to find a
power of a product, distribute the

1 11
(16-25)2 =162-252=4-5

m mipm
exponent =20 (ab) =a™b
Power of a Quotient Property: to find a 1 1
power of a quotient, distribute the (16)1 164 2 (a)m a™
exponent 21 T 1- 3% ) T Im

81 813 3 b b

Captured on Fri Apr 20 2018 07:48:39
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Objective: See structure in expressions to solve problems.

Concept

Properties of Rational Exponents

For all nonzero real numbers a and b and rational numbers m and n

Words Numbers Algebra
Negative Exponent Property: moving a 36_% _ L _ 1
power from numerator to denominator - 36% 6 1 1
or vice versa changes the sign on the 1 a"=—or—=a
exponent 1 362 6 a® a™
7= —_— =
36”2 1 1
Zero Exponent Property: any monomial
Y 3)° =1 @°=1

to a power of Oisequal to 1

Captured on Fri Apr 20 2018 07:48:46
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Objective: See structure in expressions to solve problems.

Rewrite the expression in simplest form.

5 -1
Z
8 6 -3
Lol
=
5 3 13
x’z-z° Z*3 z4
8 6.1 .85 6+ |.3..7
Xyy Xy Xy

Captured on Fri Apr 20 2018 07:53:12
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Objective: See structure in expressions to solve problems.

Captured on Fri Apr 20 2018 07:54:27
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Objective: See structure in expressions to solve problems.

Concept

Rational and irrational numbers expressed in radical form can also be
expressed with fractional exponents. When the number has a fractional
exponent, it is said to be in rational exponent form.

1
b” =%/b

and

b% :Q/bT or bg :(Q/E)p

«— radical

index __, n

‘\ radicand

Captured on Fri Apr 20 2018 07:55:32
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Objective: See structure in expressions to solve problems.

Simplify each numerical value as much as possible.

2

32 \5 _2
(2) s

Captured on Fri Apr 20 2018 08:01:12
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Objective: See structure in expressions to solve problems.

Concept

The Quadratic Function

standard form

f(x)=ax2 +bx+c

B e e
Pveriex [2(1 ,f( 2(1)}

Find the vertex and state whether it is a maximum or minimum.

g(x)=2(x—1)2+2 f(x)=—x2+6x+3
vertex = (h.k)=(1.2) xX=-— i = —L = _—6 =

2a 2(-1) -2
y=-13)°+6(3)+3=12

a=—1— x—axisreflection

a =2, noreflection

vertex:(1,2), minimum

vertex:(3.12). maximum

Captured on Fri Apr 20 2018 08:13:49
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Objective: See structure in expressions to solve problems.

Find the zeros of the function.

p(x)=—2x2+4x+6

0=-2x"+4x+6
0=-2(x*-2x-3)
0=-2(x-3)(x+1)
2#0, x—3=0, x+1=0
x=3 x=-1

zeros:—1.3

Captured on Fri Apr 20 2018 08:16:27
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Objective: See structure in expressions to solve problems.

Find the zeros of the function.

g(x)=x3 —7x% —8x

0=x"—T7x" —8x

0=x(x* —7x-8)
0=x(x—8)(x+1)

x=0, x—-8=0, x+1=0

x =28 x=-1

zeros:—1,0.8

Captured on Fri Apr 20 2018 08:18:32
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Objective: See structure in expressions to solve problems.

Rewrite x* — 8x + 2 inthe form: (x +|_ ) +
perie/c\- S%UGV‘L—I’Y‘II\OW\ el

(CEgx+ 1o ) + 2 —

\><~> =

Captured on Fri Apr 20 2018 08:19:46
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Objective: See structure in expressions to solve problems.

What is the factored form of x? — 121y??

() — (11y)?

(x +11y)(x — 11y)

Captured on Fri Apr 20 2018 10:32:33
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Objective: See structure in expressions to solve problems.

Rewrite the expression in simplest form.

x2—2x—8

x* —16

x~4) (x-l—Z) )

) (x+4)  |x+4

What are the excluded x values of the expression? Explain your reasoning.

The excluded x values are —4 and 4 because they make
the denominator of the original expression equal to 0.

Captured on Fri Apr 20 2018 08:30:35
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Objective: See structure in expressions to solve problems.

Which of the following are equivalent to the given expression?

(46"~ (x=2)(x +6)

—

A) 8x+48
B) (§i¥6)[(x+6)—(x— 2)]
C) 8(x +6)

D) 4(2x+12)

They are all equivalent to the given expression: A,B,C, and D.

Captured on Fri Apr 20 2018 08:34:58
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Objective: See structure in expressions to solve problems.

What is the simplest form of (5 — x + 2x%) — (3x +7) — (x* — 2)?

S5—x+2x*=3x=-7—=-x"+2

X —4x

Captured on Fri Apr 20 2018 08:39:00
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Objective: See structure in expressions to solve problems.

What is the simplest form of (x%x°>y3)3?

Captured on Fri Apr 20 2018 08:41:55
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Objective: See structure in expressions to solve problems.

g\ 2
What is the simplest form of (x—z) ?
X

Captured on Fri Apr 20 2018 08:42:00
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Objective: See structure in expressions to solve problems.

Which of the following equations are true for all values of x?

a) 2Y =4 516" =16
h) 6" =3 56" =9
c) 27" =8" —»8 =%
d) 3"=9° — 27 =97

aandc

Captured on Fri Apr 20 2018 08:45:08
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Objective: See structure in expressions to solve problems.

Choose the domain for each function.

x =3

= x — > -’
f(x) x—3|x#F3 |x#F4 ||x=3 X+ 4
_x—3 x#*3 ||lx#4 x =3 X = 3,
_x—4 [x#3lx#4| x=3 x =3,

Vx =3 | x#3 | x+4 x =3 X = 3,
f(x)zx_4 x #+ 4

Captured on Fri Apr 20 2018 08:41:49




